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6 FEMN FE 40 40 80| 84[71.6 56 ZAH RE¥F 43| 46 89| 14.4 |74.6 106 | £H DEX 52| 53 105| 28.8 |76.2
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16 5 {FEFH 44 45 89| 16.8]72.2 66 JIIEB 3tX 45| 49 94| 19.2|74.8 116 | K7F B 47 44 91| 14.4|76.6
17 =SH =Z1F 52 42 94| 21.6(72.4 67 /MNAIR Ak 44 44 88| 13.2(74.8 117 158 B & 50| 47 97| 204 |76.6
18 O £B 49| 45 94| 21.6 |72.4 68 ja7K XFia 41| 47 88| 13.2|74.8 118 | EEP FRE 53| 50 103| 26.4 | 76.6
19 | BB 51 48 99| 26.4[72.6 69 & A= 42| 46 88| 13.2|74.8 119 IR £ 44| 53 97| 20.4|76.6
20 kKR B 36 39 75| 2.4|72.6 70 |53th BYF 50| 50 100| 25.2 |74.8 120 |7ZH FE 48| 43 91| 14.4|76.6
21 %5y miE 49| 43 92| 19.2(72.8 71 |¥TA #N 43 45 88| 13.2(74.8 121 | KB IEBS 52 50 102 25.2/76.8
22 (kAKX Fia 42| 44 86| 13.2]72.8 72 | == 6 49| 44 93| 18.0|75.0 122 | K8 IE— 49| 53 102| 25.276.8
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27 KA *=— 50| 46 96| 22.8/73.2 77 [INBF {BIE 44 42 86| 10.8 |75.2 127 [ HhAE §RIXEP 48| 48 96| 19.2 |76.8
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31 [fEEH X 44| 45 89| 15.6 |73.4 81 &tk 2 44| 41 85| 9.6|75.4 131|IEAK fLF 45| 44 89| 12.0|77.0
32 50]H F*& 47 42 89| 15.6 |73.4 82 A &Y 42| 43 85| 9.6 |75.4 132 | T80 h&F 55| 58 113] 36.0 |77.0
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159 YR FIBA 53 50 103] 252 |77.8 209 | RHE B 56| 55 111/ 30.0 |81.0
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161 &0 WE 51| 52 103| 25.2 77.8 211 |l &% 57| 60 117] 36.0|81.0
162 | ZEM 6 49| 42 91| 13.2/77.8 212 R BF 53| 52 105| 24.0 |81.0
163 gt FEf# 51 51 102| 24.0 | 78.0 213 B RH 56/ 49 105| 24.0 |81.0
164 ik —=7K 45| 45 90| 12.0 |78.0 214| HiR B§E 52| 47 99| 18.0 [81.0
165| — = IEZF 50 45 95| 16.8]78.2 215 A& H £ 50| 49 99| 18.0 |81.0
166 =EA HRF 49 46 o5/ 16.878.2 216 | KEE kE—EB 50 55 105| 24.0 |81.0
167 |i&iE BB 46| 43 89| 10.8 |78.2 217 | 5 & 53| 51 104| 22.8 |81.2
168 | H ik BAFE 47| 48 95| 16.8|78.2 218 ith B2 55| 54 109| 27.6 |81.4
169 | S+ {SEP 48 47 95 16.8(78.2 219 jE7K BiF 49 54 103| 21.6 |81.4
170 HAEH B=E 41 42 83| 4.8[78.2 220 & FE 58 45 103] 21.6 [81.4
171 | SN L 44| 51 95| 16.8|78.2 221U Bl— 55/ 58 113] 31.2 |81.8
172 HP IE 50 44 94| 15.6 | 78.4 222 fli| Sk 56| 51 107| 25.2(81.8
173 | 7KEF IEZ 50 50 100| 21.6 |78.4 223 Al & 42| 52 94| 12.0[82.0
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175 | gLl EiE 48| 46 94| 15.6 | 78.4 225 | FK 54| 52 106/ 24.0 [82.0
176 | 7Kk B3k 47| 46 93| 14.4 |78.6 226 iR ¥— 52| 47 99| 16.8 (82.2
177| K#% + & 54 51 105/ 26.4 |78.6 227 | EEP fET) 45| 48 93| 10.8 [82.2
178 | LU 4t 56 49 105/ 26.4 | 78.6 228 FH)Il £A 50| 49 99| 16.8|82.2
179 §gith IE 46| 47 93| 14.4 |78.6 229 | AR BZN 48| 50 98| 15.6 (82.4
180 | 5TER {H1E 46 41 87| 84/78.6 230 Pk BBIA 58/ 55 113] 30.0[83.0
181 | IEK 3 48| 51 99| 204 |78.6 231 |3 78 57 61 118| 34.8 [83.2
182 |1§)I| EE 49| 55 104| 25.2|78.8 232 | 28R Fia 54 45 99| 15.6 |83.4
183 | [ HKH) 47 45 92| 13.2/78.8 233 BA# 8k 46| 56 102| 18.0 |84.0
184| Lifw EE 43| 48 91| 12.0/79.0 234 HH BF 59| 61 120/ 36.0 |84.0
185 [3E[ A 43 48 91| 12.0/79.0 235 & B3 52| 54 106| 21.6 |84.4
186 g BATE 47| 44 91| 12.0 |79.0 236 |[E# ;& F 58| 60 118| 33.6 |84.4
187 B4R E{C 49| 47 96| 16.8 79.2 237 | =i 1A 56| 53 109| 24.0 |85.0
188 | 5hH BAF 55 59 114] 34.8 [79.2 238 |#5K EXEP 65 55 120] 34.8(85.2
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